Intermediate 1 Extension Practise

Unit 1
1. Leigh bought a car for £3500 and sold it a year later for £2700.


(a) Calculate the loss incurred


(b) Express the loss as a percentage of the original cost
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2. Sandra went to Italy on holiday.  The exchange rate was £1 = €1.37.  


(a) How many Euros did Sandra get for £450?

(b) Whilst on holiday Sandra bought a bag costing €45.  The same bag was on sale in a local shop back home for £35.50.  Which country’s price was cheaper?

3. A cuboid has the dimensions 12cm long, 9cm broad and 4cm high.  What is the volume of the cuboid?
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4. Sophie is designing the garden for her new house she decides that she would like her lawn to be made up of a rectangle and a semi-circle as shown. Calculate the area of grass required




5. Kayleigh would like to take out life insurance for £25000. The insurance company quotes her £1.10 per month (per £1000 of cover) for non-smokers and £2.25 per month for smokers (per £1000 of cover.)  

How much will Kayleigh’s monthly premium be considering she is a non-smoker?
6. Craig wins £3700 on the lotto.  He decides to put the money in the bank until he decides what to spend it on.  The bank pays 4.5%p.a.  How much interest will he have earned if he withdraws the money after 7 months?

7. Ryan is a car salesman.  He earns a basic wage of £6.75 per hour plus 3% commission on all sales he makes.  What will his wage be in a week he works 37 hours and makes £24000 in sales?

8. Ashley gets paid £5.80 per hour but gets ‘time and a half’ for each hour of overtime she works.  What will she expect to be paid in a week she works 20 hours at normal time and 7 hours overtime?
9. Jonathon decides to buy a new TV from a local shop on Hire Purchase after seeing the ad in the window.



How much was his deposit if the total cost came to £2000?
10. A box in the shape of a cuboid measuring 50cm long, 30 broad and 30cm high.  How many smaller boxes measuring 11cm long, 6cm broad and 4cm high will fit into the larger box?
3m





5m





50” plasma TV


15 instalments of £112.50 plus a deposit of £        	   








